#=HlJJE | BORING TOOLS

f#7LH & B~ Boring Head Com

BSTR%

BST Boring System )

EITTHF
Taper Shan

&

&

LBK

LBK Boring System )

_('E_

200 EFWBHAE X AZMIEKEET

Large Diameter Finish Boring Head

ZOOI«XJ:SBHélﬁngﬁiXWﬂEH

Large Diameter Roug Boring Head

SBH120, 1607TiAN3 7] 485 7]
SBH Indexable Rough Boring Head

WBSTI5AAZETINSMNEM IR
WBST Quartet knife handle large-diameter
cylindrical processing sugar

=

Taper Shan

B = 1 A

EiRR

Flange

Lal{, 0+

FREITERT

Extenstion(Constant Diameter)

O ) -

SEETERF

Extenstion(Reducing)

0lc o}

r(
\
E#IHERER
Collet

BEREXIHTIRL

Power Chuck Holder

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

BE R (AR LS55 4T

Super Hard Solid Tungsten Carbide Boring Bor

EIR#EIT
Straight Shank Boring Bar

B o= 71 A

SRR

f£H5I7JE | BORING TOOLS

HIERAR

Modular Boring System

d
Balance'Weight
0
0
|0
RIREBIR
Finish Head
L
—
B
Extension Slide
BIR
Clamp Base

‘ Insert Holder

TIRERE
Height Setting Shin

BORING CUTTER SYSTEM

SBHEIFANIN T M TI R 5
Twin-bit Rough Boring Head SBH

WBH fRiE¥5 7]
WBH Finish Boring Head

AEHSEETL

Combined cylindrical boring

C{eof o=

INRETIERAT BMERR L EEILT

Small Diameter Boring Bar Small Diameter Boring Bar

WBJ16/MERIAKE#ETI RS
WBJ16 Small Diameter Finish Boring Head

» |

L <=

INRSETIN
Jo— X

Small Diameter Boring Bo

EH

Collet

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com

HEMEETIF #FLk
Tool T Holder Insert Holder



#%) 718 | BORING TOOLS §AHI §AHI #%)7]8 | BORING TOOLS

#H £ JJ Rough Boring Tool Rough Boring Tool ¥2$% 7]

SBHARIIAXMZIMETI R  (#7LEE$25-$204mm) SBHW7J4HsE7IHSHRSI SBH Finish Boring Head
Twin-bit Rough Boring Head SBH<Boring Range Form ¢25-$204mm> B st SNEE XN HAAS EARE €K TINENMIE B

=5

1. THEREIKGENE, WIMEIESE.

2. WEKTL, EIERE, TTREHK,

3. HUBHEIRT, WINRFLHIB A,

4, TIRERERE, BIEEE,

5. MEFSRKRERT, FNHABRIITRA.

1. Shortened boring head,with strengthened rigidity

2. Inner coolant nozzle directly cools the inserts and prolongs the working life.
3. Design of chip pocket increases the chipping function on deep holes.

4. The lowered height of insert holder strengthens the rigidity.

5. Unique design of height difference, Suitable for level boring and step boring..

SBH25-35-C LBK2 25-33 32 24 CCMTO060204 0.1
SBH32-45-C LBK3 32~42 39 31 0.2
SBH40-55-C LBK4 40~ 55 48 39 CCMTO09T304 0.4
SBH52-75-C LBKS 52-75 54 50 0.7
SBH68-100-C 68~100 68 63 1.6
MTI 2 fre——
SBH90-130-C i 980~ 130 78 88 e i 2.6
SBH120-164-C BST 120~ 164 100 100 CCMTI 20408 4.1
Series
SBH160-204-C 160~204 100 128 CCMTI 20408 5.2

SBHYX7)¥H$¥7J+LBK7J#l (MAS 403BT)

SBH Twin-bit Rough Boring Head+LBK Shank(MAS 403BT)

o — i —— —— ——— i —

A | BTREHINHIEFLEIRTEAIZATIFT 1BTis the improved type dedicated to resonance in boring

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




$2i 7] B | BORING TOOLS

$200LA ESBHA S AKIZHETI RS

Indexable Twin-bit Rough Boring Head SBH<Boring Rang Form $25-$204mm>

1. iBAP200-p1250mmARFLZINTER,

2. . FENERRBMAN, BR5ERMFERER. mT
AEEEA$110mm, SBH6005SBHI00AEESEEA350mm,

3. 7], AFESHIRAER, MEATSMHMERMISH.

4, FHETISHERASERBR, DEARREIAESR,

5. ZHEIMNEHEFLAMELER, MISEE$20-$300mm,

Features

1. This type is suitable for large diameter boring with ranges from $200mm to ¢$1250mm.

2. The structure includes common flange and extension slide for both rough and finish boring heads. Available
can be optional accessories for different worls. Adjustment range is within 110mm on diameter.
The adjustment rang for bother SBH600 and SBH900 is 350mm.

3. Options of various inserts fou rough boring of different materials and boring styles.

4. Available is the horizontal slide made of Aluminum alloy to reduce total weight.

5. Option of external boring kit with boring range from $20mm to $300mm.

*'Mﬁ Specifcations

s
15

BAES CEZ2
mad

oin 2 e p

MIER

BT

IR

e
e Eae a2l

HRFRR
&M
mas

ok

Hi ko 55

=&
TRERR
EE
TNRE

E&7R
EE

B = 1 A

THRAKEFBREHAE X #EEZEMNwww.hnsant.com

§AHI ##7J5 | BORING TOOLS

$®200LL ESBHAS TN AZEWN7I#H5ETI+BSTIIHE (MAS 403BT)

SBH Indexable Twin-bit Rough Boring Head For Large Hole Boring+BST Shank <MAS 403BT>
(§2FL3EE $200-p1250mm)
{Boring Range From ¢200-¢1250mm)

e P Sith] Eals H#5EE #EgEm ZIRIE EE
aEW \EsE
(GEBST R E)
*ﬂ”‘g Specifcations
=] HIEE AYk 4HdaNF EANS ok NHKINNE B=E
a%W \Ees

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com



#¥I7JE | BORING TOOLS §AHI §Aﬂ[ #¥I7JE | BORING TOOLS

SBHIF#RE H$ET) WBHHIATFE T R 5

WBH adjustable fine boring knife
MiREM BMTEEngit, AIREGEENINIEE,

There are pre-balanced design, availability and stability of the machining accuracy.

FREN N RETINT, SAE, BAMMME

Standard corresponding to the anti-boring work processing, using a wide range of increasing added value.

1. RAMBREERR, 11 7IERBARIAGEZIt.
2. ERTREER, BEERENEMT.
3. HHESE—RTERINT, BEEREHEMH

1. Adopt the unique shape of height difference, the insert

holder use the fine-tune structure. ﬂm N N
Specifcations
2. Suitable for workepiece of moderate margin and low accuracy. P
3. Finish the rough boring and fine boring in one time, with high efficiency, low cost. e #EORS 7NRE IEs# 2 ] sg CAAR
1. BEME IR F AR ENES, ';IE WBHHSLE & AR M INERE731200m/min, BERFNLIRESEMTGCE.
NBRITHFNNEERDREGREX. TEFFEERNRERSIENMIRF.

2\ ;EFESNEEH*E"L, ﬁ’l‘ﬂ*ﬁﬂﬁﬁ&ﬁﬁfﬁo nﬁ&

3. EAT200LL ERIKRZIIHIETL,
B s pRAE TRk B s ERAE TSk Bs A TRk

acure- S

1. Originally created and independently researched and developed by
LPK, economical and practical, with low cost and high efficiency.
2. Use SN type inserts, every insert is replaceable for 8 times when using .

3. Suitable for boring holes of large diameter above $200mm

TN, EHINTH.

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com



551772 | BORING TOOLS §Bu1

CBHiMIATIRETI 25
CBH adjustable fine boring knife
BEFENgIT, ARFRENINIEE.

There are pre-balanced design, availability and stability of the machining accuracy.

REN N RETIMNT, EAEE, B E

Standard corresponding to the anti-boring work processing, using a wide range of increasing added value.

imﬁ Specifcations
2s BONS THE | rE —— R SRR

EE WBHEL B S AR M TEEE}1200m/min, BEERNIHFSEMIBNKE.
BRI ANMESRDGAER. BETFEENERRSEAMI&f.

TIREE

B s KA REzEk B e BRE bE 107 = B s KA TRk

TN, HF3MTHE.

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

B o= 71 A

WBH (CBH) iR zURE7IE S &5

] #X \/EEK HENE

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com

#=HlJ7JE | BORING TOOLS

Precision Boring Tool  ¥5$£7]

gams =K 7K 7TFHE =B



#=HlJJE | BORING TOOLS

¥5$% J] Precision Boring Tool

B = 1 A

#7eE
HIRE EeBS HEE HAKE RS RL/RF BE
&% BE®E
#HE specifcations
e #iEE AMk 4HaNFE BANS 2K NHKETIMME ES
A%l \Eas

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

B o= 71 A

WBJ16 WiRiRELR S

ﬂilﬁ Specifcations
s #7.BE S

ps #HiEE

(i&HT)

WBJ16 HiFIEEALAS (S8REH)

ﬂﬁ Specifcations
ns i &S 3RS

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com

#=HlJ7JE | BORING TOOLS

WBJ16 #EREALERS

AT EE
EANR 23] =¥ EE
HLus = EE



#¥)7]8 | BORING TOOLS §AHI

NBH2084 HiAfBEILA S

NBH2084 Fine-tune the Precision Boring System

HH‘& Specifcations

NBH2084 ®8~ ©280 ©0.01mm/H 28.0mm

SBJ2008-32 B~11 0.095
TBGTO601..L M2.0X5

SBJ2010-40 10~13 0.095

SBJ2012-53 12~17 53 28 0.12
TPGH0802..L M2.5X6 T8

SBJ2016-68 16~21 20 68 110 0.16

SBJ2020-83 20~130 83 123 0.22

SBJ2025-96 25~135 96 137 TPGH1103..L M3.0X7 T8 0.34

SBJ2030-115 30~140 115 152 0.54

SBJ20-L20-100 120~280 B4+BTL1| 100 0.23

NBH2084 WiFfSEHILRA (EE)

NBH2084 Fine-tune the Precision Boring System(Set)

AN
#4 Specifcations |
—

BT40-NBH2084-8P 08 ~280 BT40-NBH-50

BT50-NBH2084-BP 08 ~280 BT50-NBH-55 12.0
NT40-NBH2084-8P 08 ~280 NT40-NBH-50 9.3
NT50-NBH2084-8P 08-~280 NT50-NBH-55 NBH2084 WBJ-20.. 10.8
SK40-NBH2084-8P 08 ~280 SK40-NBH-50 9.5
SK50-NBH2084-8P 08 ~280 SK50-NBH-55 12.0
R8-NBH2084-8P 08 ~280 R8-NBH-50 10.0

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI #4172 | BORING TOOLS

IFtRTIBES

ER U TEMASIERETIAER

K;xg;..i.,ﬂ
v \;):f“‘
WER —
o
2° E S|
P )
7:243 0O S —
TMG21#0O
KB#EQO
o
=il
— A
EHEED gf U fl”
L ¥ = J o
g
XME#D] 1
[ ff ‘:’: N
(%,
L

7
i

FERETIEARNG R

- FRAS

ﬁﬁg_ﬁﬁ WAL TERAS, FREGERTIR.
: L
. gg#ﬁﬁléﬂﬁﬁ—ﬂﬂﬁw, FHERTERHERM .

EHISTAIETI A IR, BEETHIH R TRIEREATASREASET].

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#=HlJJE | BORING TOOLS

A JJ B Mini Adjustable Cartridge

D

A

1>

Mini Adjustable Cartridge

* JJEMEEIE  Type of milling tools

—

Dmin

B = 1 A

STR90 F16.CC06 STL90 F16.CC06 90 8.8 16 45.6 13.5 28 0.4 CC.0602..
STR95 F16.CC06 STL95 F16.CC06 95 8.8 16 45.6 13.5 28 0.4 CC.0602..
STR90 F16.TP09 STL90 F16.TP09 90 8.8 16 45.6 13.5 28 0.4 TP..0902..
STR95 F16.TP09 STL95 F16.TP09 95 8.8 16 45.6 13.5 28 0.4 TP..0902..
STR90 F20.TC11 STL90 F20.TC11 90 8.8 20 45.6 13.5 36 0.4 TC..1102..
STR95 F20.TC11 STL95 F20.TC11 95 8.8 20 45.6 13.5 36 0.4 TC..1102..
STR90 F20.TP11 STL90 F20.TP11 90 8.8 20 45.6 13.5 36 0.4 TP..1103..
STR95 F20.TP11 STL95 F20.TP11 95 8.8 20 45.6 13.5 36 0.4 TP..1103..
STR30 F16.DC07 STL30 F16.DC07 120 8.8 16 48.5 13.5 28 0.4 DC..0702..

« TIHERIERBEMEIEMIT . Inserts with different materials should be ordered separately

« BEREGFEEFINAFEES, There are right and left hand specifi cations available in stock.

< HERBEER0.01mm. #420.005mm., The adjustment: 0.01 mm on diameter and 0.005mm on radius.

« REFAEZEERR 0.6mm, iHEEEE 1mm,. The adjustment range: 0.6mm on diameter by radial direction, 1 mm on diameter by axial direction.

&

Spare Parts

(@]

=1 o I e N

CC..0602.. SR21 M2.5x5.3 SR57 M5X16 SR55 M5x20 HFX.3 KEY02 T7 KEY01M2.5  KEYO01 M4 KEY01 M3
TP..0902.. SR22 M2.5x6 SR57 M5X16 SR55 M5x20 HFX.3 KEY02 T8 KEY01 M2.5  KEY01 M4 KEYO01 M3
TC..1102.. SR21 M2.5x5.3 SR57 M5X16 SR55 M5x20 HFX.3 KEY02 T7 KEY01 M2.5  KEYO1 M4 KEYO01 M3
TP..1103.. SR22 M3x6 SR57 M5X16 SR55 M5x20 HFX.3 KEY02 T8 KEY01 M2.5  KEYO1 M4 KEYO01 M3

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

#H o= 7 A

RN ERERY

Assembly Instruction for Mini Adjustable Cartridge

ERREBEF R.H JJENS@IRE. The figure is for the right hand specification.

#=HlJ7JE | BORING TOOLS

Mini Adjustable Cartridge 7118 7] &2

EAEF L.H DERERBEENIIZE . For the left hand specification, please refer to the opposite figure. Setting Instruction

TIEZRRY
Assembly Instruction
B .
iy kL 58
Tot wacefor ‘
oentrz coolant hole| I_l)_r_L \ "‘2
s m— | I A
e =i
- >
3550 ' %
L»B
W— A
( ( D
5‘ B R R6.1 B " \\\\\\&
SN ey
HI Iz \v/ 2\ N
\N|
8 v
48 13 M5 A-A
.
TIEEFTS &
Adjustment Instruction
— 1.2 EERET
1 2 3 ¢ ¢ 2. TIEE R IRET
[ [ SNSRI 3 HEETIRET
3 @ ‘ Y 3 1.Radial adjusting screw
: 0 O @' ¢ & 2.Lock screw for cartridge
i—i 'Ma'x"l" \ 3.Axial adjusting screw

| VEREY P

Adjusting on axial direction

o THIRARTT TI EEBERURET 2,

o [[RETEHIEEENETIRET 3, TJERRBHERENRT .

o SKETIEEGHRIRET 2,

e Loosening the 2# lock screw lightly.

e Rotating the 3# axial adjusting screw on the anticlockwise
direction, so that the cartridge can be moved forward to the
required size.

e Tightening the 2# lock screw firmly.

IR MRTDEFEQGED, MSRFIENEERET, FEDER
MESREHE, AERHORETEIITENRT.

Note: If the cartridge should be moved backward, please loosen the
lock screw, and then move the cartridge to the back, finally adjust the
cartridge to forward little by little to meet the required size.

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com

DNEERRBABEE

Adjusting on radial direction

o IRRSET V5 EIEEEAREETIIRET 1. TTRERZHEKX.

o FEHET S AN IETIRET 1. TTEERENE/N.

o RAMBBETADREBIEE—ZE, JEERFEEMH0.01mm,

e Rotating the 1# radial adjusting screw on the clockwise direction,
so that the diameter of tool will be larger and larger.

e Rotating the 1# radial adjusting screw on the anticlockwise direction,
so that the diameter of tool will be smaller and smaller.

e The adjustment on diameter: 0.01mm as per dial.

| SANT

N



#%) 718 | BORING TOOLS §AHI §AHI #%)7]8 | BORING TOOLS

R/L 148C #5287t R/L 148C %528t

ﬂLP il B
. e BEMIEA
— I VRN
- @ / @ "53c 8! b Mﬁuﬁﬁ"ﬁ'ﬁ]%
£ » S a1 N e KPR o
: 90° o 3 FABFEHME, MEREATRM, BEREAFUE,
: o~
: k| .
EE:
: « FEMMLEEER T, BEDERORTR,
T~ Z TI BRI E=R A Bitan 53° 8
dm dm
s FEBBERTBEBENEER TNRXNEAETEE,
MRBHIBAETCE, BERITAREELTRA .
* @HE (RYT) : 0.02mm/ig EFNEA ‘ oy
RERTRERY
d3:09 . dages
l EATFMATE emmitRtARE R T 120°% 15"
Used to mounting unit for edge 16mm e
L148C-11-0602 16 10.1 241 5.1 27.6 25 CC..060204 L60 M2.5X5.2 T8 (// i
L148C-12-0902 20 14.3 32.9 6.3 37.1 3.5 TC..090204 L60 M2.2X5.0 T6 =5
L148C-13-1102 22 171 44.3 7.2 49.1 6 TC..110204 L60 M2.5X5.2 T8
L148C-14-16T3 32 25.7 62.7 10.3 69 10 TC..16T308 L60 M4X8 T15 3
L148C-31-0602 16 11.3 25.15 0.45 25.9 2 CC..060204 L60 M2.5X5.2 T8
L148C-32-0902 20 15.3 33.7 0.9 33.1 2.8 TC..090204 L60 M2.2X5.0 T6 X Se
T b S ; o
L148C-33-1102 22 18 45.3 1.1 42.6 4.8 TC..110204 L60 M2.5X5.2 T8 pS 118° _~ \‘\ ~ -
— \ ,"/
L148C-34-16T3 32 27 62.3 1.2 60 8 TC..16T308 L60 M4X8 T15 \ —

-+ L2 RTDKREBNAr=0 BT R
- BRI 144L148C-11-0602

L148C—xx—0602 11.5 2.8 1.9 19 16 4.6 3.2 M3 9 9.8+0.02
L148C—xx-0902 15.5 4.0 1.6 25 20 4.6 3.2 M3 9 12.5+£0.02
L148C—xx-1102 24.0 5.0 1.8 30 22 6.5 4.3 M4 13 15.4+0.02
L148C—xx—16T3 33.0 6.3 - 46 32 11.9 5.4 M5 16 23.0+0.02

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREAKEFRREREBE] X #HEZEMMiwww.hnsant.com




#%) 718 | BORING TOOLS §AHI §AHI #%)7]8 | BORING TOOLS

@54 T]  Simple Style Boring Tool Simple Style Boring Tool @5 iE7]

BT-BSB 90° HAHHET] BT-BSA 45° f1AHHET)

s SEE AE BE EE AE

HETHETE, LATRREH

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#=HlJJE | BORING TOOLS

R4 T] Modular Boring Tool

BSA # 3k

BSA bevel-type sugar head

y &

H = 7 A

BSA30-LBK2 @30 @42 24 24 40 1.6 8 M6x1.00P
BSA38-LBK3 ®38 52 a 60 60 2.6 10 MBx1.25P
BSA50-LBK4 @50 @65 42 40 70 3 13 M10x1.50P
BSAB2-LBK5 ©62 90 55 50 85 2 16 M12x1.75P
BSA72-LBK6 72 110 63 80 98 2.4 19 M12x1.75P
BSB f ik
BSB bevel-type sugar head
W
H
]
BSB25- LBK2 ©26 52 24 20 45 10 8 M6x1.00P
BSB38- LBK3 ©38 ©70 at 30 55 10 10 MBx1.25P
BSB50-LBK4 ©50 ©90 42 40 60 10 13 M10x1.50P
BSB62- LBK5S 062 @115 55 50 70 12 16 M12x1.75P
BSB72- LBK6 o72 @135 63 60 85 12 19 M1i2x1.75P

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

#H o= 7 A

CBS 713

HI7JE | BORING TOOLS

CBS turner
iEFATBSA, BSBiE#ET), ESEMMT
For BSA, BSB coarse sugar cutter, suitable for heavy machining
D
N
|
CBS-408 8 50 CCMT0602 M2.5-6.0-3.5-60 T9
CBS-410 10 60
CBS-413 13 70 45°
CBS-416 16 100 CCMTO09T3 M4-10-5.7-60 T15
CBS-419 19 150
CBS-425 25 150
CBS-908 B 50 CCMT0602 M2.5-6.0-3.5-60 T9
CBS-910 10 60
CBS-913 13 70 90°
CBS-916 16 100 CCMTO09T3 M4-10-5.7-60 T15
CBS-919 19 150
CBS-925 25 150
’?.\

@]

CBS908L

CBS910L 10 60
CBS913L 13 70
CBS916L 16 100
CBS919L 19 150

90°

=

CCMT0602

M2.5-6.0-3.5-60

T9

CCMTO09T3

M4-10-5.7-60

T15

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#=HlJJE | BORING TOOLS

INTIK 2 TI K TITRERS

SCFORIL

H = 7 A

2D armIs

W2y IZ2GD MBZTIS E#DJ K F
rew rew GD  Screw TJL rewDJ  Wrench
o h ‘ L L1 hi Sc'e Sce‘G Sce'JS S;J €nc
SCFPR/L 06CA-05 CPOO050204 20 8.5 8 25 12 6 M2.2+5 | 03510 | 03009 03006 T6
SCFCR/L 08CA-06 CCO0O060204 25 10 10 32 17 8 M2.5+6 | 04016 04012 T8
SCFCR/L 10CA-09 CCOOo9T308 40 15 14 50 20 10 | M3.5%8 | 06020 04008 T15
OD gane o '——-{-‘" Jo—. 9]
L{.-" ~ ;f L
|l - T y
Vol —— 72N .
\\\ N r/"':f—'““\\ _;[7\[\{) N )j él—:l
Pl o)
N

SCGPR/L 06CA-05
SCGCR/L 08CA-06
SCGCR/L 10CA-09

R GD MRZTILS 4D R F

#D h ; L L1 hi Scr'ew Scretw GD Screw'T JLS Sﬂ DJ ?h
CPLO050204 20 8.5 8 25 12 6 M2.2+5 | 03510 | 03009 03006 T6
CCO0060204 25 10 10 32 17 8 M2.5+6 | 04016 04012 T8
CCOOoo9T308 40 15 14 50 20 10 | M3.5+8 | 06020 04008 T15

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

#H o= 7 A

SCLORIL

#=HlJ7JE | BORING TOOLS

INTDZR SETD K TIRRARD

) oD abmIs

=Ry L

N ' I" If/.P_\\.\

IR2GD IRLTILS MR4DJ

h1 Screw  ScrewGD Screw TJLS  ScrewDJ  Wrench

oD h f L L1 $ I ' P {
SCLPR/L 06CA-05 CPOO050204 20 8.5 8 25 12 6 |M2.2+5| 03510 | 03009 03006 T6
SCLCR/L 08CA-06 CCOO060204 25 10 10 32 17 8 | M2.5+6 | 04016 04012 T8
SCLCR/L 10CA-09 CCOO09T308 40 15 14 50 20 10 |M3.5+8 | 06020 04008 | T15
SCLCR/L 12CA-12 CCOE120408 50 20 20 55 20 12 | M5+12 | 06025 | 05014 | 04012 | T20
; DD aimIE
oSG .
s s RI L T — lf ' \?/r ! "
ol L

B4GD BATIS IB4D)

@D h f L L1 n Scr'ew ScrethD Screw'TJLS SﬂDJ w
SCSPRILO6CA-05 | CPOI050204 | 20 85 8 214 12 6 |M22:5] 03510 | 03009 | oo | T6
SCSCR/L08CA-06 | CCOTI060204 | 25 10 10 28 17 8 |M256 04016 | 0 T8
SCSCR/L 10CA-09 | CCOO09T308 | 40 15 14 44 20 10 |M3.5+8| 06020 04008 | T15
STSCR/L08CA-09 | TCOITI090204 25 10 10 335 17 8 |M2.2+6| 04016 | 04012 | 03006 | T6
STSCR/L 10CA-11 TCOD110204 40 15 14 44 20 10 |M2.5+6| 06020 | 04012 | 04008 | T8
STSCRIL 12CA-16 50 20 20 47 20 12 06025 | 05014
STSCR/L 16CA-16 | TCOI16T308 55 21 25 53 25 16 M358 08030 | geoqg | 04012 | T15

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




#=HlJJE | BORING TOOLS

&R #ET] Modular Boring Tool
SOKCRIL

H = 7 A

@D BT R -
/ k¥ i -
cl= R B
=1
\\ i\ j

I222GD

1 4y IB2TILS WE2DJ
h1 Screw  ScrewGD Screw TLS  ScrewDJ ~ Wrench

oD h £ L U $ ‘ ' P
SCKCR/L 08CA-06 | CCLI060204 | 25 10 10 32 17 8 |M25] 04016 | 5s0q, | 03006 | T8
SSKCR/L 10CA-09 | SCOO09T308 | 40 15 14 50 20 10 | M3.5+8| 06020 04008 | T15
SSKCRIL 12CA-12 50 20 20 55 20 12 1o | 06025 | 05014
SSKCR/L 16CA-12 | SCHO120408 55 21 25 63 25 16 | MO9*12 08030 | 06019 | 04012 | T20
@D BT E
£ ,‘irf_ J .
g —l—
2 ol ‘
\\
. i \\
AT
TN
W \____-]
I i
RS
L

W2 4 MRGD ME4TIS 4D R F
Screw  ScrewGD Screw TJLS  ScrewDJ ~ Wrench

SCWPR/L 06CA-05
SCWCRI/L 08CA-06

@D h f L L1 hi ' ' ' ' {
CPO0050204 20 85 8 227 12 6 |M22+5| 03510 | 03009 03006
CCO0060204 25 10 10 29 17 8 |M2.5+«6| 04016 | 04012 T8

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

#H o= 7 A

STFCR/L

#=HlJ7JE | BORING TOOLS

@D IR
L -
L/ ;P/“_ f 5 . —]
Err—»'?—r RN el
_'l_“{ = L
Sl r )
\ - NN
~ . 3ke WO
b J/ \\I
M.
NS
L

1y IBYGD MEZTIS B#D) W F
h1 Screw  ScrewGD Screw TJLS ScrewDJ  Wrench

STFCR/L 08CA-09
STFCR/L 10CA-11
STFCR/L 12CA-16
STFCR/L 16CA-16

D h f L L1 N ' ' P {

TCOI090204 | 25 10 10 32 17 8 04016 03006

TCOO110204 40 15 14 50 20 10 |M256| o500 | 04012 | ga008 | T8
50 20 20 55 20 12 o 06025 | 05014

TCODM6T308 | oo 59 58 o3 oo 15 |M35:8| 00020 | 090°% | 04012 | T15

STGCRI/L

J@D!;J\IWIE _l L@ ) —

2 4y WEZGD MEATIS 2D | T
Screw  ScrewGD Screw TLS ScrewDJ  Wrench

STGCR/L 08CA-09
STGCR/L 10CA-11
STGCR/L 12CA-16
STGCR/L 16CA-16

D h £ L L1 h - I ' P ’/

TCODI090204 | 25 10 10 32 17 8 04016 03006

TCOO110204 40 15 14 50 20 10 |M256| o500 | 94012 | ga008 | T8
50 20 20 55 20 12 06025 | 05014

TCOO16T308 | 55 21 25 63 25 16 |M358| 08030 | 0019 | 04012 | T15

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




##I7J5 | BORING TOOLS §AHI Bx (M)

CONTENTS
STTCRIL - | THRZER e

f’f ‘_{_J(é@ th |
\{.\\ Lo
EI_I_F H :.g/,x L /:] \

R . T SR LTI P280~P285

- *\ e 3 ‘;?m@ﬂ it o] COLLET CHUCK ARBORS

“H BRI pogs

_ ' EXTENSION BAR

= s ALy YAl P287~P288

POWER MILLING CHUCK ARBORS

MERH  prgg~p2o1

SIDE LOCK END MILL CHUCK

B2 GD IRZTILS 4D R F
Screw  ScrewGD Screw TJLS ScrewDJ  Wrench EAHETI P292~P296
gD h f L 1 n ' ‘ ' ' { SHELL END MILL ARBORS
STTCR/L 10CA-11 TCOO110204 40 15 9 50 20 10 |M2.5+6] 06020 | 04012 | 04008 | T8 EREEKHER P297~P298
STTCRIL 12CA-16 TCOO16T308 50 20 13 55 20 12 |\ 0| 06025 | 05014 | oy0ps | 145 MORSE TAPER WITH TANG
STTCRI/L 16CA-16 55 21 15 63 25 16 : 08030 | 06019
SCTPRIL 06CA-05 CPOO050204 20 85 55 25 12 6 |M2.2+5| 03510 | 03009 T6 TR BB g
. 03006 mER ~
SCTCR/L08CA-06 | CCO060204 | 25 10 6 32 17 8 |M25+6| 04016 | 04012 T8 ORSE TAPER MmO TANG P299~P300

=EHEIW  p3p1~p302

TOOL SHANK FOR SIDE AND FACE MILLING CUTTER

TEEFMH  p33~p309

TOOL SYSTEM ACCESSORIES

TEESZRAER -
STWC R/L N TOOL SYSTEM TECHNIGAL INFORMATION P310~P316
'lf'ff —|‘3’ 76-\? —[
LA PN o
P L - } -
S
NN
\- R
. <

12 4 WB4GD WB4TILS E#DJ R F
Screw  ScrewGD Screw TJLS  ScrewDJ  Wrench

@D h f L L1 hi ' ‘ ' ' {

STWCR/L 10CA-11 | TCOO110204 | 40 15 14 44 20 10 |M2.5+6| 06020 | 04012 | 04008 | T8
STWCRIL 12CA-16 50 20 20 47 20 12 06025 | 05014
STWCR/L 16CA-16 | 1COD16T308 | 55 51 55 53 25 1 |M3:58 0go30 | 0go1g | 04012 | T15

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

